
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 8,242,028,213   1= ljb]zL d"b|f / ;]So"l/^L 426,056,679,000

2= rng rNtLdf /x]sf] gf]^ 417,814,650,787

hDdf lgisflzt gf]^ 426,056,679,000

hDdf bfloTj 426,056,679,000   hDdf ;DklQ 426,056,679,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 8,242,028,213
2 ;fwf/)f hu]*f sf]if 21,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 17,973,056,796
4 ljsf; sf]ifx? 18,951,285,991   4  ljb]zL a}+s df}Hbft 99,014,749,178
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 160,114,240
6 ;^xL ;lds/)f sf]if 82,574,493,598   6  ljb]zL a)* 129,810,764,211
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 64,968,085
9 lgIf]k      -v_ ljb]zL -
   -s_ g]kfn ;/sf/ 223,066,183,559   8  nufgL
   -v_ afl)fHo a}°x? 131,976,307,868      s= ljb]zL ;]So"l/^L 273,338,792,334
   -u_ ljz]if lgIf]k 37,150,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 41,570,559,995
   -#_ cGo 44,073,248,480      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,448,571,870
10 e"QmfgL lbg"kg]{ lan 178,347,689      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,769,636,572      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 33,084,165,793      v= jfl)fHo a}+sx?nfO{ 7,371,659,920

     u= ljQLo ;+:yfx?nfO{ 934,367,064
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,058,145,138
  10 ;"g df}Hbft 1,595,645,215
  11= cGo ;DklQ 30,454,137,947

hDdf OSjL^L tyf bfloTj 618,068,560,207   hDdf ;DklQ 618,068,560,207
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